HE108ARM =R 1S M2t L

= &% 53 8%+ B
11 FHESH 1-1 MR
e 1.2 IF & 5805 1-2 BHHIEES
Fl=
Bk
BN 1.3 & 5T 1-3 BEHTS R EES
14 | mepermnmny 1-4 IS BERE T
21 BEEES 21 EHEE
#0E 22 |errmEmme N AEy| 22 AEBEAEE
3 53 R 514 B
58 23 ABHIEES 2.3 AR EES
2.4 g 24 HHHTIS B E RIS R
3.1 X FHEE 3-1 LUgsEAI mm e
_ﬁ_;ﬁﬁﬁ 32 | m—m—wmEst 3-2 ——RHER
3.3 PIar 3.3 — - AR MRS




HE108ARM =R 1S M2t L

5 T 2 B+ B
1-1 s mEns 1-1 e
s 1-2 S80I 12 BRMIHES
BEOER | 5 | mymmpamaiEs | 13 mmmmmammEs
14 | mmraneEs 1-4 SEMEREE
21 BB R 2-1 MR
s 220 |BAARBERIASE| 22 ARBEAEE
AROES | o5 | sewmanes 2.3 HEEIIFES
24 — 2-4 HURTIREE ISR
341 KB 3-1 U SEBISEuES
| 2| —mwmEs 3-2 —F—FH R
33 EEEE 3-3 - RHERAER




HE108ARM =R 1S M2t L

= EIEN S B+ B
1-1 BRI 1-1 B
15 12 YR EE 1-2 BHNEES
BB E LIRS
2% 13 BYHTIRES 1-3 BYHRRANLES
14 | EmEraness 1-4 {5 BRI B0
21 HHEH R 2-1 EgEEE
g0 2-2 ARBEAEY 2-2 NEBINER
5 REDBIE
C 23 HEIIEIES 2-3 HBHIHIES
2-4 B2 2-4 HBMTRBS B HE
31 | MERsiReuEs 3-1 LI S5 iE e
235 St RAER MBI R N
e | 32 o 3-2 —E—RERR
33 | —T—REERWER | 3-3 T kHRILER




